TR

AESR
SF6E8 A8H(K)
JIE {5z K4 OUT | I N [¥BX| H D | NET | {§&
1 IMER B 82 152 | 66.8
2 egr =2 86 184 | 676
3 Wi =& 87 184 | 68.6
4 #iK IEBR 88 184 | 69.6 NP
5 g 2 76 6.4 69.6
6 B #FX 91 20.8 | 70.2
7 =5 K- 80 9.6 70.4
8 FR B 76 5.6 70.4
9 BE RF 88 176 | 704
10 {EiE —Bp 73 24 706 | BGE
11 mwE B— 78 7.2 70.8
12 MR RS 89 176 | 714
13 Bl FOBR 89 176 | 714 NP
14 IR HIF 75 3.2 71.8
15 FILE E— 87 152 | 718
16 kg B8 75 3.2 71.8
17 fRE 3—ER 85 128 | 722
18 fEh RSB 97 248 | 722
19 INE BE 81 8.8 72.2
20 BXR FIB 94 216 | 724
21 BA Wz 90 176 | 724
22 S BE 75 2.4 726 | NP2
23 hE BE 91 184 | 726
24 Kix e 88 152 | 728
25 A+ BBE 77 4 73
26 Z2R F 77 4 73
27 KT &8 90 16.8 | 73.2
28 wmig E— 83 9.6 73.4
29 B EE 83 9.6 73.4 NP
30 Mg I5a 92 184 | 736
31 B FX 80 6.4 73.6
32 FEE FIRE 93 19.2 | 738
33 {5 15 86 12 74
34 ik A 94 20 74
35 XHF 171 84 9.6 74.4
36 —i¥ B 84 9.6 74.4
37 BE BX 81 5.6 75.4
38 HE EE 85 9.6 75.4 NP
39 IMNIL R 93 176 | 75.4




40 Z a8 102 | 264 | 756
41 ME B 86 104 | 75.6 NP
42 ik =18 86 104 | 756
43 EE [E= 96 20 76
44 % BE 85 8.8 76.2
45 M A 89 128 | 76.2
46 Hi& B— 85 8.8 76.2 NP
47 =iH 8= 90 136 | 76.4
48 Iz 58 BE— R 84 7.2 76.8
49 BE EIE 96 19.2 | 768
50 HFE BF 81 4 77
51 Xig ABE 98 208 | 77.2
52 PIA FIIE 90 128 | 77.2
53 Eff 1= 90 128 | 77.2
54 TiE %E 90 128 | 77.2
55 Rk EE 91 136 | 774
56 HH = 87 9.6 774
57 BH EE 92 144 | 776
58 A R— 93 152 | 778
59 Hig A 91 132 | 778
60 FHE BRE 89 112 | 778
61 Tk 1Bl 94 16 78
62 Riga e 96 176 | 784
63 BE A 100 | 216 | 784
64 Bk i 96 176 | 784
65 2l E8 93 144 | 786
66 AT mB 105 264 | 786
67 W Ea 95 16 79
68 2@ ER 83 4 79
69 fE &R 92 128 | 79.2
70 INEF B TE 96 16.8 | 79.2
71 AH PUER 97 176 | 79.4
72 F¥ B 85 5.6 79.4
73 B XKa 89 8.8 80.2
74 = F 103 | 224 | 806
75 Kbt Z=E 103 | 224 | 806
76 SH BE 86 48 81.2
77 HO A 88 6.4 81.6
78 &5 Bt 88 6.4 81.6 NP
79 h¥ Ba 93 112 | 818 NP
80 AH EiHf 100 176 | 824
81 iR fK 85 2.4 82.6
82 MA B 102 184 | 83.6




83 NI FEa 100 16 84
84 IRk HER 103 | 176 | 854
85 =H RF 97 112 | 858
86 fNEE SN 104 176 | 86.4
K HE EE 108 | 272 | 808
K& HE F/IT 90 9.6 80.4
K L JERE 80 6.4 73.6
K =ik BX 80 8 72




